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Click here to open the
app menu

Click here to sync the
app with server

Click here to select
language and unit system

Start measuring

Click here to calibrate the
device sensor




Getting started with Timbeter

6 Timbeter Test Organization ET] TIMBETER

To start measuring click here To view your measurements click here
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Start measuring View results




1.2. Hold the

weme | 1) Getting the photo right

and parallel to
the pile.

7 1.1. Place the reference next
to the pile

compensation: default is 0.0. If
S there is too much light, change
§ the EV setting to -0.5 /-2.0. If
there is not enough light, change
the EV setting to 0.5 and 2.0.

-~ -
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Light: 0.7

Light: 0.7

5 save the

Click to take the

Click here to

measurement f

Measure and save



Getting started with .,

measurements setting

d ia m Ete rs by clicking here.

1R " EESPFFD a8 Rl 2551 10:49

Measurement options S3ave

Diameter Pile Truck Density

Reference size®@ 100 cm

Birch

A
5.1. Click here for length® 300 cm 5.3. Choose:
Diameter measurement 1.Trees species;
Calculate using A. Nilson(Estonia) formula 4 2.Log length;
/ B ki svanicad Bkl 3.Calculating formula
5.2. Enter your reference File name Result 2016-12-06 10-49-19
size (by default it is 100 m)
Storage Timbeter HeadQuarters »
Type Uncategorized 5.4. In this section you
. can choose additional
Quality 7 options.

Assortment




NB! Getting the reference right

6.1.Move the
circles to the
end of the
reference

L Reference size: Tm

5

6.2.Move the
circles to the
end of the
reference

< Log length: 3m Reference size: Tm
-— FaN =

Step 1/3

Step 1/3

Next

6.3.Move the
circles to the
end of the

reference

6.5.1f

reference is

marked then

press next Step>1/a

Next

By clicking

here you can
return to the
settings —

< Log length: 3m Reference size: Tm

-— =




Getting the area of interest right

7.1 Press next 7.3.Move the 7.4 Press next
if the area of circles to if the area of
interst is right mark the area interest is
of interest right
Step 2/3 ~ : e 7 diq ; ep
Next : g S =y 12 2 Q
©; _ :
g e
©
e /'A ~ « 5 3
Log length: 3m Reference size: Tm Log length: 3m Reference size: Tm

7.2You can also measure part of the 7.5. Selected
pile. Move the wihte circles to mark logs
the area of interest

Step 2/3 e . ; Step 3/3

Next s ek i : Next

Reference size: Tm

-



Step 3/3

8.1. Tab the
circle to mark
the log (it will
show in red)

8.3. Re-size the log
- move from here
| to left or right

Step 3/3

Next

8.2. Move the
< position of the

diameter circle
from here

8.4.To add,
hold the finger
on the missing
log (it will
show in red)

8.5. To delete,
hold the finger
on the log
(green circle
will disappear)

Step 3/3

Next

Step 3/3

c




<

Cull markin

Step 3/3

Next

circle to mark
the log (it will

show red)

Log length: 3m

- 1 >
Log lengt

Step 3/3

Next

-

i

h:3m Reference size: 1m

Step 3/3

Next

9.4. Cull the
marked log

< Log length: 3m Reference size: Tm

Cull: Wrong length

9.5. If all the logs
are culled then
press next

Step 3/3

Next

< Log length: 3m Reference size: Tm

- - =




Results

CIOEEEER T EX) “al @3 1¢ i@ Fong
4 Measurement details e Measure again
Diameter | Count
[F] Result 2016-12-06 10-49-19 21em
Storage: Timbeter HeadQuarters 24cm
Type: Uncategorized 25cm
27cm
‘ Tree species: Birch 28cm
30cm
o Volume: 8.47Tm? 32¢m
al 48

33cm
34cm

@

Av diameter: 31.84cm

35cm
36cm
37cm

Log count: 31

Log length: 3m

Reference size: 1m
39cm

40cm
48cm

Formula: A. Nilson

nil@sFoe@ “all @5 10:54 FIEEEEL L

€ Measurement details e Measure again

[F] Result 2016-12-06 10-49-19
Storage: Timbeter HeadQuarters
Type: Uncategorized

SeleCt Volume
speC|f|C Total 8.47Tm?

& \olume: 2.28m?-27% | " Birch 8.20m* 96.85%

é jé diaeters H i§s cul | 027m® | 3.15%

Av diameter: 26.62cm

4 Tree species: Birch

Reason Volume

Wrong length 0.27m?

Log count: 12/31
Log length: 3m
Reference size: 1m

Formula: A. Nilson
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Results
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< Measurement details C Measure again

)

Result 2016-12-06 10-49-19
Storage: Timbeter HeadQuarters

Type: Uncategorized
Tree species: Birch

Volume: 8.47m?
21

Av diameter: 31.84cm
Log count: 31

Log length: 3m
Reference size: 1Tm

Formula: A. Nilson




Results

0 U@ Foag ol 5 10:54

< Measurement details e Measure again

] Result 2016-12-06 10-49-19
Storage: Timbeter HeadQuarters

Type: Uncategorized

4 Tree species: Birch

Select

‘-li Volume: 2.28m?®-27% specific : 3

= d diameters
.- . —

Av diameter: 26.62cm

Log count: 12/31
Log length: 3m
Reference size: 1m

Formula: A. Nilson




Results

Diameter

21cm

24cm

25cm
27cm
28cm
30cm

32cm

33cm
34cm

35cm
36em
37cm

39cm
40cm
48cm




Volume

Results

Total 8.47m?3

Birch 8.20m?®
Cull 0.27m?3

96.85%
3.15%

Reason

Volume

Wrong length

0.27m?

OK




Remeasuring

Measure
again

New measurement




Storage module in the web

[T]TIMBETER . ABOUTTIMBETER HOWTOUSE = STORAGEMODULE  BLOG ~ PRESS

SMART-DEVICE SOLUTION FOR ACCURATE TIMBER ',
MEASUREMENT AND DATA MANAGEMENT ___
Log in to see your

Measure timber in pile, truck or container
measurements

DOWNLOAD NOW > Google play ;




Contact

Vallo Visnapuu

CEO

+3725292014
vallo.visnapuu@timbeter.com
www.timbeter.com




